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Mgmt 380

Assignment 4

Sensitivity Analysis & Parametric Analysis

DUE:  October 14
30 points
You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.c. on handout #1).

If you choose the “team of two” option on other assignments, you cannot work with the same person more than twice during the semester.

Solve the mining problem on Exam 1.

(1)  Report the optimal solution, the slack/surplus values, and the values of the shadow prices (as always, in words the management can understand).
(2)  If the smelting company changes its call for medium grade ore from a minimum of 25 to a minimum of 18, what effect will this have on the solution?  Explain this to management.
(3)  If the smelting company changes its call for low grade ore from a minimum of 77 to a minimum of 110, what effect will this have on the solution? Explain this to management.
(4)  The daily cost to run the first mine is likely to decrease to $1500.  Explain the effect.
(5)  The daily cost to run the second mine is likely to increase to $1800.  Explain the effect.

Each of these 5 sections should be clearly marked in the memo to management so that they can easily find the answers.

As always, follow the instructions for assignments on handout #1 (sections IIa.  and  IIf.).
